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20228}

/0

E SES8A M FIHEE A=l

=311
AN SE2H
(Ctel: &
= & X =
o o [2022 1X=Z | 24Ul | 2022 =0ilat | A S(a)2 o o [2022 152 | 24Ul | 2022 =20iat | A s(n)&
- (A) (%) (B) (%) (A-B) - (A) (%) (B) (%) (A-B)
sSs3=+¢ 25,222,830  99.5| 25,222,830  99.1 o =2 A 17,341,406|  68.4| 17,341,406  68.1 0
nselsg 58,763 0.2 58,170 0.2 593| Z 2l 2 g 3,343,200 13.2 3,343,200 13.1 0
S X+ 2| EFRFAF 0 0.0 0 0.0 0] & 73t 4,377,083 17.3 4,473,676 17.6 ~96,593
DE XA O 0 0.0 0 0.0 o] =2t s8 70,763 0.3 70,170 0.3 593
D¥2UNY2 55,000 0.2 55,000 0.2 of of 8l ol 45,948 0.2 45,948 0.2 0
OIAtEE D012 23,407 0.1 120,000 0.5 ~96,593]  F X+t EFRHAH 0 0.0 0 0.0 0
D RFADE 127,000 0.5 127,000 0.5 0
DH2 A 54,600 0.2 54,600 0.2 0
OIAFZ XD1018€ 0 0.0 0 0.0 0
= Al 25,360,000[ 100.0| 25,456,000[ 100.0 ~96,000] & Al 25,360,000[ 100.0| 25,456,000[ 100.0 ~96,000
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SESSIA HIX FHEE XS0 eA (=)

( 2022. 03. 01 2E 2023. 02. 28 WXl )

(THe|-® e, MEZTH:E)
o =
2002 1%+ 2022 =0l & = 2 o = O
2 s = (A) (8) (A-8)
5100 s=E2+¢ 25,222,830 25,222,830 0
5110 SE53+¢ 25,222,830 25,222,830 0
5111 253 355,010 355,010 0 (& AN 355,010,000
MEE sz ¢ (EX&xX) 355,010,000
5113 &Mz 24,867,820 24,867,820 0 (& AN 24,867,820,000
MEE SEZ2 =¢ (EXI&xX) 24,723,304,000
MEE HEEI| g2 20,000 & *23] 40,000,000
HME Hasty S52 a4 45,0508 & (18FD])459,466& & (25D]) 104,516,000
5400 WA+ 58,763 58,170 593
5410 Gl 20l Kk==¢) 40,000 40,000 0
5411 Ol 20l &t 40,000 40,000 0 (8 AN 40,000,000
MEE o102 ol Kt+=¢ 17,5008 & %28t )| 35,000,000
ML d BS0Z2 0l k¢ 2,500& & %25t 5,000,000
5420 JIEt N 2 +¢) 18,763 18,170 593
5421 &+ 18,763 18,170 593 (& AN 18,763,000
J=e | oeEs 170& 21«13 170,000
J12 g (1XH)JIErE 2= 593& 213 593,000
ANEE JIEtE =2 500& 263 3,000,000
Med JIEt&E =2 1,000& & 13| 1,000,000
St El WIHEE StRHE BJEHE 3 7,000 & %25t D] 14,000, 000
1200 EXFAD|EFRFARQ] 0 0 0
1240 JIEFXHAES=Q) 0 0 0
1242 LXNES33 = 0 0 0
1300 D& XHAHOH 24~ 0 0 0




w= 2022 1x=& 2022 = 0l &t e o A Az
o & = () (8) (A-8)

1310 REDF A&+ 0 0 0
1311 EXI0H2HCH 0 0 0
1312 AS0H210H 0 0 0
1314 DI HI DI 042 CH 0 0 0
1316 Xt & 282002t 0 0 0
2200 RYIFMLS 55,000 55,000 0
2220 JIEtDE S 55,000 55,000 0

2229 JIEtNEEM =< 55,000 55,000 0 (&8 A 55,000,000

neg 2022 ZAH EIEE HY 8,000 & +28tJ| 16,000,000

neE 2022 =1 EIANYZ 2,600 A+15% 39,000,000
59 OIALE A II01E XS 23,407 120,000 96,593
5901 OIAFEXDI0IE X3 23,407 120,000 A96,593
a3+ SAH 25,360,000 25,456,000 296,000
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SE338H HiIXt FHEE XUS0AAH (XIF)
(12022. 03. 01 2E 2023. 02. 28 MKl )
(Stel: Mgl Aza7:gl)
5 2022 2022 £2 on o]
1X=H 20l & “A8) 2 A =
2 £ =2 e (A) (8)

4100 =4 17.341,406] 17,341,406 0

4110 WL 13,235,285| 13,235,285 0
4111 DRSO 8,512,931 8,512,931 0 (& AH) 8.512,931,000
H2RE  |EREE 8,512,931,000
4112 D02 2,325,444 2,325,444 0 (&t AH) 2.325,444,000
H2E  |SREE 2,315,444,000
£28 |u® maz 1,000& %103 10,000,000
4113 WM 543, 150 543, 150 0 (& ) 543, 150,000
G EREES 353,400,000
N2 |MynY zno 15,0008 21801 & 120,000,000
D2E  |HESD) =R 3,000& 2423 6,000,000
gste QA TFE 4y 500% £ <62 +400% 21 +155 9,000,000
gatg  [mEresy 2aE 50 21525]x303] 3,000,000
BHNS M5 MUY oA T5E B4 Al 2H+30F 22 B 18,000,000
BAMDS |HAs) MUY BB 75H 2153A12Ex30F 3 2 20,250,000
BHNS |5 MUY oA T5E B2 A 2030 3 Y B 13,500,000
4115 Alt2ol2 976,900 976,900 0 (&) 976,900,000
WRE  [HY AA B 115,000& & «8I4 & 920,000,000
DR [HEE) Loz 7,000& 21 %23| 14,000,000
TANE [Hostn FAws Ao 758 R1x3A1 2Hx30F x2S B 13,500,000
BAMDS | 2 BB T5H s Al 2Ex30F «22 B 9,000,000
TAWS [Horstnt AIZA 2OIB T5H 252N 2H34F x4 2 B 20,400,000
4116 SgZo2 4,400 4,400 0 (&) 4,400,000
= |ARBAXH(SMHE) 600 & 43 2,400,000
neE |8l S ¢ nl S 150% 21103 1,500,000
X |odns AAR 500% & *13] 500,000
4117 DHEE RS 48,900 48.900 0 (& ) 48.900.000
D2 |HXDY SENHYS 2,800% & 3% 8.400,000
DN2E |ZYNRAASS) SRNYS 1,7008 2+9% 15,300,000
n2E |ZYNRABSS) SRNYS 1,6008 &+ 3,200,000
DN2E (YN (n) SAFYS 2,0008 211 2,000,000
WRE (2022 YA EIHD HY 10,000 2123 20,000,000
4118 ZWOI2H] 823,560 823,560 0 (& ) 823,560,000
MEE  |ZEmeil 2,061% 21 x30% 1200 F+60& 21«30 1204 2 745,560,000
ney |zpEz 2,600% 2130 78,000,000

4120 ML 4 4,106, 121 4,106, 121 0
4121 =2AZ0f 2,586,607 2,586,607 0 (& ) 2,586,607, 000
MeE  [|EREE 2,586,607, 000
4122 =02 643,002 643,002 0 (& ) 643,002,000
M2E  |ERNEE 643,002,000
4123 =AT 2L 775,624 775,624 0 (& ) 775,624,000
MEE  |EREE 557,624,000
E98  |XE M 10,000% 21+13| 10,000,000




5 2022 2022 £2 on o]
1XEZ 20l & “(A8 2 A GE2H
2 3t =2 (A) (8)

28 |gF22 g 5008 2« 1248 6,000,
£28  |Fgdz2=24y 1,0008 & +23| 2,000,
28 |[Zazusasy 100, 000& 2 2% 200,000,

4125 AIE 0124 | 41,088 41,088 (& 3 41,088,
oulE  [sa=ee 3 856& 2 *45 <1248 41,088,

4127 NSNS 59,800 59,800 (& 3 59,800,
28 [Hox g213 5 2,600 2233 59,800,

| 3,343,200 3,843,200
4210 Al 2+2lH] 1,752,960 1,752,960

4211 AES2IH 162,000 162,000 (& 3 162,000,
ANdE  [nuy A=8 g 6,250 21+ 1201 2 75,000,
ANdE  [nuy A= odmo 33,000% @ *13| 33,000,
AgE (DU 53 |NES 2,000 & x 1201 2 24,000,
NEEIEEE RN b 14,000% & *13| 14,000,
AgE  [2EZ 232 515 240 837 16,000% 2113 16,000,

4212 Ed| 22l 514,580 514,580 (& 3 514,580,
w2y [sazZzaz guess 4,200% 21%25]+3,500% 2 +13| 11,900,
NRE  [ZHISANAY SXESF $28 30,000 & *13] 30,000,
AEE (D 340 202 ¢ 22 3.300& & *128 39,600,
ASE  [HFALY =8| A0 7008 2+ 128 8.400,
AlSE  [2E ZH 22l 2,700 & *128 32,400,
CHZ  [SAH/EA/EUBRAALE STLSH 6.440% & *23| 12,880,
asE DR el 3,000& & x 1201 2 36,000,
dsg  [HAIRM sXEs el 5,400% & +10J0 2+6,000& & x20H 2 66,000,
MsE |JIE B2l 5008 2 * 13l 500,
XY [BS2PEID BEBEIID 244l 250 & 23] 500,
HEE [sEsues HOAIAE, SXELAIAE S 200,000,
28  [SHOX |2 Ci&H/QAI/ED EHO0IX SXN2S 20,000,
IEE  [ExzM s IS /HS2A/EHOIX S SULS 10,000,
328 [d=7 |24 DR/RICIA T /serviceAERIX |2 12,000,
HEE  [Ms EES ofzHie MS EES ALS 12 THH otHl 28,000,
28 |=Zole Hig 1,000 2 +135] 1,000,
SMRX |ZSYNMLS(RAER) 250 & * 12048 3,000,
SIS [BAOR(RTES) 200& 2+ 12048 2,400,

4213 ZH 22| 25,000 25.000 (& 3 25,000,
AZE  |muel =2 asx 22 5,000& 2 +23| 10,000
ANEE [ZHAE d H2 § 228 2 1,500& & +103| 15,000,

4215 Al 850,930 850,930 (& 3 850,930,
ANEg  [nu sHois A28 42,000% & *128 504,000,
ANeg  [2orare ZuBY 22,000% & *128 264,000,
AgE  [NYEEDIE H2l8Y 2,500% & *128) 30,000,
ANEE  [PU S4AL g2 1,800 2128 21,600,
ANEE  [2gAg 228y 1,400 & x128) 16,800,
AEE  [FE2 ®IIgH orXDe 8 5008 2+ 128 6,000,
AlSE  |nU 28 goasgd B50& 2 +58 3,250,
ALE [N IolZes2 SX=Es 4408 2+ 128 5,280,

4216 282 18,950 18,950 (& 3 18,950,
ANEE  [DsALHHEHE 14,000% & *13| 14,000,




5 2022 2022 = o o
1X=H 20l & “A8) L =
2 £ =2 e (A) (8)

ANEE  [Hisi=28=2 2 JIE=E: 1,000 24 +33] 3,000,000
AEE (DU 520 Ha2E: 800 £ %13 800,000
ANEE (DRl JAAIDA A2 150% 2«13 150,000
228 |[MfEsgsE 1,000% 213 1,000,000

4217 21~ - ARZ 12,000 12,000 0 (& ) 12,000,000
ANEE  [2Esue AsE g8 12,000% & *13| 12,000,000

4219 JIEFAI A B2l 169,500 169,500 0 (& ) 169,500,000
NEEIR U 20,0003 # %13 20,000,000
ANZE |2 Z5E B4 25,000 # %13 25,000,000
ANZE |2 DIEE o XX FHa 8,000 2 +23| 16,000, 000
ANSE (DU AUSEY 23 2348 2,500& %33 7,500,000
NEEERERL NPt 5,000& %23 10,000, 000
ANEE  [u wesgUE M2t 5,500& %23 11,000,000
ANgE  [ANE2E SXE4 20,0003 ®*13] 20,000,000
ANEE  |DU JIENE A28 29 2,500& 211204 2 30,000,000
ANZE  JIEAIE SRES 2,500& 211204 2 30,000,000

4220 Lprately| 1,072,190 1,072,190 0

4221 OlHI WY 102,610 102,610 0 (& ) 102,610,000
N2y |[dRnfcds 5F 1,000% %44 4,000,000
n2g [Myng ARWE RSY 50% 21 x30% +23] 3,000,000
W2E  [SAX HHIBEH 20& 9 +103] 200,000
WRE QLA 0T HItWEH] 30& 21100 3,000,000
n=eg  |ngE 53 50 211003 5,000,000
WRE (ORI NSUHARS A0 1,800% &1x23| 3,600,000
N2E [(nsgfs 2 Ho 100 & 53] 500,000
JlglE [EFH Y ool B00F & x631+300F 21 x354210& 1 +13| 4,710,000
AgE  |2E 534 500% & *13] 500,000
ASE  [EFHI(MY L S AEMS 2R B S) 1,000% &1 1,000,000
AsE IR S3H 500% & *13] 500,000
gste  [gAgeRd EF(DnYe S) 40,0008 2113 40,000,000
£28  |BUAEHY 800& &+ 120 8l 9.600,000
Y (YT EFH(MAD NEwH) 2,000& 1 +28t )| 4,000,000
sueT (NT Y S0 SF 400 21 %207} 8t 1t 8,000,000
EER I N 40004 D1 2Hx37 .58 & 15,000,000

4222 X2 XL 52,800 52,800 0 (& ) 52,800,000
ANeg  [e2e iy axs 2,400 81123 28.800,000
ANEE (28 uz 2R 1,600% & +123| 19,200,000
ANALE  [g28 X2 422 29 = 400% & %123 4,800,000

4223 A B EY| 68,000 68.000 0 (& ) 68.000,000
SAZ |MXKE (Web DBES) 1,900% &13| 1,900,000
SAZ [sg4 29 1,900% &1 1,900,000
= ey 3.000& 2113 3,000,000
CAZ  |SHNEXB2R ADE 250% & %123 3,000,000
OlHIE  [dHI200 2 orge e 2I 500% & «20 &! 1,000,000
ey [ma 222 2y 2,000& 81+13| 2,000,000
28 |RPANHE MRSE S 4,000& 212048 48.000,000
28 (YA == 1,800% & +43| 7.200.000

4224 Q1A E Y| 7,120 7,120 0 (& ) 7.120.000
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5 2022 2022 = o o
1XEZ 20l & “A8) 2 A GE2H
ey =2 H= (A) (8)

OlHl2  [Arsl=eeel S#sXatl 2003 & 23] 400,000
Jl=lE [or2Al 100 & 53] 500,000
28 [AZAH 300 & * 128 3,600,000
28 |uXY =4 =234 2,0008 21%123] 24,000,000
s28 |(w=a =x 48 10,000% @ *13| 10,000,000
EECIN L 2,000& & x28t )| 4,000,000

4232 WRESH| 33,000 33,000 0 (& 3 33,000,000
n=y [d=3n=04s 4503 2 #23] 900, 000
D2E  [ARWAS FHI 500& 2+ 103 5,000,000
DIE (A 2AL QeleH & St 250F 2 +23] 500,000
AEE [0S otEsaE 500& 2 *13] 500,000
N S 250& 2 +23] 500,000
AlZE  [FDI/LEI/AE S BolX HEDNS 500& 2+ 13] 500,000
ANEg  [7a od 23 N8 2,500& & 23| 5,000,000
MBE  |PAMEATAL DS L JIE DS 250& 2 +23] 500,000
USE  (WKS(AFE0) 1,600 213 1,600,000
UStE  |TFE MOILE R 2,000& & *13| 2,000,000
TOIXE [HojSMTIAME 93 5008 2+ 13] 500,000
28 [Fges o HOIL BA HH 5008 & *25% 12,500,000
28 [w= ox AUl 1,000 2 %23 2,000,000
StM=x |MEgols 8olall 5008 2l +23] 1,000,000

4233 Yt ot 62,960 62,960 0 (& 3 62,960,000
THRE  [ZASIHAA E24 10,000% & *13| 10,000,000
AEE  [eiPa otEAA 2ob) 3,000% & *13| 3,000,000
Jl=lE [3FD] D12 EIIOIE BIL £48 27,5008 @ *13| 27,500,000
ol [snsozmi 242 2Y 4,300% 2 +13] 4,300,000
Jlglg  [Rrozmselus Bl £242 2Y 1,000 213 1,000,000
s28  [ssa=xs 1,100 & 123 13,200,000
g2y |[-es=sE 330 & *123] 3,960,000

4234 J|2E A2EFY| 5,000 5,000 0 (& 3 5,000,000
28 JI2Y g2FH| 600 2+ 12042 5,000,000

4236 JIEH PR 51,620 51,620 0 51,620,000
NS (N2 2dy(d) 260F %254 520,000
n=a (A 100% 2 +103] 1,000,000
n=d  |deal Zaud Zobl 200 & *18H| 200,000
W24 (WA BET AL 100& 2 +281)| 200,000
e Bl E R PN E L] 2008 2 +13] 200,000
JIZlE [3FD] JIBBIIOIE O HEUR2EI FH 1,500 2413 1,500,000
I L P 1,000 2413 1,000,000
dsE  [2resiui(g o st AEAS B 2Es]) 9,000& & *13| 9,000,000
stE  [gAYeY JLFAH (DY 5) 2,000& & %103 20,000,000
28 [Hue g2zl 1,500 &1+ 120H 2 18,000,000

4237 24| 261,450 261,450 0 (& 3 261,450,000
JlEE  [EAEEZD 14,000% & *13| 14,000, 000
JlEE  |RAANSITD 7,000& & 23| 14,000,000
gste  [Somn(|0, AsAt ZES2tQ BD) 29,000& @ *13| 58,000,000
gste [D1g =yl 40,0008 &1 +13] 40,000,000
gstel  [BHOIZOPIE S(SNS B2 S) 110, 0008 & %13 100,000,000




5 2022 2022 £2 on o]
1X=H 20l & “A8) L =
2 £ =2 e (A) (8)

AstE sty 22 X 4,000% 2413 4,000,000
USTE  [AIYM OIHIE A 5,000% 13| 5,000,000
USHE  |MH Y HEBAE EE 2,000& & +13| 2,000,000
USE  |22#0 RE 6,000& 13| 6,000,000
28 [colof2l MR 136 21 %400 5,450,000
228 |[BESIIEENR 30 21x300H 9,000,000
WMWK [Hosy S 2,000 211525t 4,000,000
4238 319/H 12,100 12,100 0 (& ) 12,100,000
I EEE NP 50% 21103 5,000,000
Jlgle  (Hatgaeel g2 1,500& 213 1,500,000
gste  [gAS2dEBE 39 851 x30% & *15% 3,600,000
Y |2gods 29 2003 & 53] 1,000,000
Yy |12,z nns 2y 250F 2 *43] 1,000,000
4239 8 At 30,100 30, 100 0 (& ) 30, 100,000
WRE SN 0A Y YUSHA HA 5,000& %23 10,000, 000
WRE  [AE #AF Y O A 300% £ %13 300,000
Jl=lEl |2E g I A 1,000& 53| 5,000,000
JIEE (AR FIFIA Ty 1,000% &+13] 1,000,000
28  |ZII2sNEE 400 21%22% 8,800,000
28 A4 20H 21250 5,000,000
4241 JIE+2 Y 8,600 8,600 0 (& ) 8,600,000
T2E  [SBAASHH S 1,000% & =23 2,000,000
D2 (AN ARWE oF =l S 600 & *13] 600,000
D2 |24 HBE 59 S 2l 508 %203 1,000,000
JlEE  |AE 9s 2 29l 5003 & *13] 500,000
olgle 25 e 294l 500% £ %13 500,000
HEE  |HAUBE &atHa el Oty 3,000& 13| 3,000,000
BYLS [Jorstn SoAN Y B2 NE 500% 8 %135] %254 | 1,000,000

4300 O RSt AIAH] 4,377.083 4,473,676 96,593

4310 21t 54,000 54,000 0
4311 S| 50,000 50,000 0 (& ) 50,000,000
W2E (WSS AHIX /ALY 2,000& 21%25% 50,000,000
4312 o122t 4,000 4,000 0 (& ) 4,000,000
SAHZ =25t 4,000% 2 +13] 4,000,000

4320 St AH 4,323,083 4,419,676 96,593
4322 DUH SIS 3,377,163 3.473.756 96,593 (& ) 3.377.163,000
SMEX [HHLTE(LYX OAE ET) 80,000 & *157| / 280,000 &l «1547| 360,000,000
syex |Zozsisgmss 500% & 502 25,000,000
ST [OSTAMZ RS 1,055,000% 24187 1,055,000, 000
stM=X |oSTOrE &S 700 & %10 7.000,000
SN [22AWSHFE(AR0, U, $5S) 1,300& & +10% 13,000,000
stuex |sgast 1,0008 & %20 20,000,000
styex |wepFst 500% & %152 7.500,000
syex |HsEst 1,000& & %20 20,000,000
SIMEX [T EMESH(AQM THEM) 196,230 @431, 758 % & 227,988,000
SIS |AARIISKIR A (5 2) 22,000% # *23] 44,000,000
SMEX |[MZASDE A (2E) 23,000% & 23] 46.000,000
SMsEX |[MZASDE A2 (R0 16,000% 2123 32,000,000
SM=X |FMBYIBE A (FE, 2l 8El) 97,1202 8«13 97,120,000
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suex |2z 55,000 & 25t 110,000,000
su= (22208 33,0003 & #2854 66.000,000
SM=X |MSSOXNAS(HERE RES T8 79,476 @*13| 79,476,000
susX |[Zoysaast 15,000& & 72«28 | 21,000,000
stM=X [old 9 222 A S (HUBEST) 106, 6728 @ *15HD)| 106,672,000
susX |METYEs 365, 000& %254 )| 730,000,000
SIS |(1XH)AME X S 96,593 & *13] -96.593.,000
suex |HEms 20,000& & 28| 40,000,000
SMEX |SEINIIEEE 8,000& 2128t | 16,000,000
suex | DEAH RS 11,0008 & «28t | 22,000,000
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dsE  [2TZEQI0 180,000& 2 +13] 180,000,000
M8 DIE AEdsT 10,000% & *13| 10,000,000
458 [JIEt 35 AEASHI(HS JIAHIXLE) 30,000& & *13| 30,000,000
HBE  [CIPHSSAXNALAT S okl 1,800% & +13] 1,800, 000)
EEENEE ] 2,000 * 153 & x4F 120,000,000
HEag [EFdsy PER 2,000 *10& & 20,000,000
4324 =S8N 1,600 1,600 (& ) 1,600,000
CHZ [=2dAE 403 2 +40H 1,600,000
4325 SHA T b 45,000 45,000 (& 3 45,000,000
suex [HEoES MASe 2,000& 213 2,000,000
M= [HEoEE d4SE 500% & *13] 500,000
M=l [gER X 2,000& 213 2,000,000
M2l [RER H4SEH 500% & *13] 500,000
ST |HSRI(SHM)BA XIRH| 30,000 & *13] 30,000,000
M= [SAZS X 1,000& & +23| 2,000,000
e ENEE =] 100% 211074 *23] 2,000,000
SIS [JIEF BAF RIRHI 500% & <63 3,000,000
ST [2I2%E 2Kl 500% & 63 3,000,000
4329 DIEFE M AL 384,520 384,520 (&t AH) 384,520,000
Ny e gdncH(29l) 1,340% 2128 J| 2,680,000
N2y e AENCHEAE) B0 %254 | 1,200, 000)
e Bl P NI D) Q00& %154 900,000
D24 [DiselgdnE(S2i0tE ) 1008 @ #2854 )| 200,000
D2 [DISgHNH(SEHATCE2HH) 258 @« 10F*28¢ )| 500,000
D24 [Di=gdne(AISRsdNE SR 558 @l 63| x28t | 660,000
DS D= AN UEH(ASIZAE ) 4408 21 %254 880,000
D2E (222 HEHAR NS 4,500 +1.28 @ 5,400,000
DRE  |MTHE AYH 25y X 9,500& & 23| 19,000,000
CHZ |SAESHOMEH (SF01SNEE 24350(8) 3,500% & *13| 3,500,000
OlblZ  [SrA0lbI2 2A| 500% & 33 1,500, 000]
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Qste X EOiH ME 2,000% & *13] 2,000,000
ostel fosT sMEEgA 2 4,000% 213 4,000,000
MO [Tl MRIAME 2H A 2007 2 +83] 1,600,000
HEY [AYNEEHE 29 5007 2 +43] 2,000,000
By [fgstas Az 1,000& &l +13] 1,000,000
N EEE RN 400% 2+13] 400,000
= QU 2HAl(H AR} 5008 &+ 13l 500,000
s20 [ABA(ABIILE) 4007 2 +13] 400,000
20 [sslgsd(Ease) 9208 &1 +23] 1,840,000
= SolHULSH(F2MAY) 1008 & *40% 23| 800,000
stz c QIRHESHH I (E I CH) 600& & *13] 600,000
s20 (AP (SN 54 S) 800 2 +23) 1,600,000
StMET [SSHA 34,000& & *83| 272,000,000
SIS |sAlS &Il 5& & 1,000 5,000,000
stu=x |stsoa retsl ) 5007 2 +43] 2,000,000
STMSR (28 AHA ZBHQ XAl 5008 & *23| 1,000,000
StMETX ST XERIDI? K& 500& & *53| 2,500,000
SMET [2tS5EE st XTI 130& & +20H 2,600,000
StMST |SwZdARHAEE Iyl 14,000& & *13] 15,000,000
SIS |AS S ARSI 500& 21 *23] 1,000,000
SIS |EYUA AS 28 2 %1204 3,360,000
SIS [EYA IEE EX MEU 1,700& & «2CH 3,400,000
SM=T |ld 22 AMOIEl A S| 2,500% 2 *43] 10,000,000
StMET [JIEF 298] 5,0008 &*13 5,000,000
St ALEE [HUBEST &40l 22| AIAE RAUE+ 7,500%& & *13] 7,500,000
StMAY |STMAGHE 2| 1,0008 &*13) 1,000,000
4400 WAL 70,763 70,170 593
4420 JIEtR=ER2AHIS 70,763 70,170 593
4421 &4 70,763 70,170 593 (g A 70,763,000]
ML E S5 NEIMN =5 eHa 20,000& & *25} | 40,000,000
JI& g 2E HEAH 552% 2 x13] 170,000]
JIg g (1XH) A ZF&atl 593& @113 593,000
StMSEX |WUHES StRHsoz JEE BHE 15,000& & *251 | 30,000, 000]
4500 &= 0 0 0
4510 &2 0 0 0
4515 S HESD 0 0 0
4516 DUWHE3 0 0 0
4519 HIS=E2BHESD 0 0 0
4600 Ofl bl Bl 45,948 45,948 0
4610 oflbl bl 45,948 45,948 0
4611 olibibl 45,948 45,948 0 (& ) 45,948,000
J| &8 [o:(Ns1 =] 45,948 & «13] 45,948,000
1200 EXt2AI|EFRLAX & 0 0 0
1240 DJIELRHARI & 0 0 0
1242 AXNEES 2N E 0 0 0
1300 D& XHAHOH 127,000 127,000 0
1310 SE DX XHAHH Y 127,000 127,000 0
1312 A S0 HI 0 0 0
1313 2201 dl 0 0 0
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